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21. "t~ a' c E R • * 2+3i ~ax2 -4x+c= O ~-{~ • ~*a' c{f.J{i o (A) a=2 (B) a=- 1 (C) c=3 (D) c=13 

22. ~ z= ,. -~-- ~~ . ___ • ~-'~I zl (A) v; (B) 2 (C) ~ (D) ..J2 

23. 1t.f.a(l + i)24 + (1 - V3 i)9 = (A) 8 (B) - 8 (C) 4 (D) - 2 

24. -t~i= Fllla'b~-t"it•*(cos 1~+isin~f = a+bi·JN b- J3a= CA) - 1 CB) - 2 (C) 1 CD)2 

25.*-2iff.J.if~*o (A) 1- i (B) - 1+i (C) 1+i (D) - 4 

26. 4x - 3 ~ x2<3x+ 10 ff.J~tt-:1f_1m (A) 7 (B) 8 (C) 5 (D) 6 

27. -t~ k ~)fit • *1£~1tit x~f~kx2 - 2x+ k'li.~.iEtt • M k ~.fe.lll ~1UJ? (A) k > 1 (B) 0 < k < 1 
(C) - 1<k< O (D) k<-1 

28. "t~ a' b' c ~iE.it • * a+2b+3c= l8 • ~*abc ff.J:a:k1A o (A) 48 (B) 36 (C) 54 (D) 64 

{

2x+ y - 6 ~ 0 

29 . ..f£.1t~.ifliJJ:. • i~~~~i\.~~m 3x-y+3 2 0 ff.J~~ • Jtii-~1UJ? (A) 2
5
2 (B) 3

5
2 (C)~2 

y 2 0 

(D) 48 
5 

30. {f. 93 ~ 5 ~M~A 71f§lit • 1~~ ~ ~it7'1 • *-J1:1:. 71f§litff.J;fu o (A) 343 (B) 882 (C) 686 (D) 746 

31. "t~ a, b, c, dm;I.iEit~~~:t.it7'1 • %- b- a= 9 • d-c= 144 • *-iHt. ro (A) - 4 (B) 4 (C) -2 

(D) 2 
n ~ 

32. e.~ :Lai = 2n2 - 39 ' ~~*- :Lai ff.Jfi o (A) 480 (B) 5586 (C) 2400 (D) 2870 
i=! i = 21 

33. 1t.r.fjlog4 [log9 (1og2 8)] (A) - ~(B) ~ (C) 2 (D) - 2 

1 +~ log0.36 +1log27 _ 
34. ft. r.fj M ~ ' ' ~ - (A) - 2 (B) 2 (C) - 1 (D) 1 

35. (log2 125+log8 5)(log5 64+log25 8) = (A) 5 (B) 8 (C) 16 (D) 25 

36. M~fl.i\.log2 x - 4logx2 = 3 ' *-J1:1:.~~i\.lff:1f·~-~ (A) 2 (B) 4 (C) 8 (D) 16 
. 3 

37. l:.9;ologca = 3, logcb = 4, JttlT71J1UJ::f-k..iE.tfff.J? (A) a+b = c1 (B) logc(ab) = 12 (C) logba =-
4 

(D) (loge b r = 16 

38. 5 ~ 3 *f'F.:i~-#~7'1 • --k-!t~~~·~.#~i!-:13_~ o (A) 1320 (B) 14400 (C) 4320 (D) 1680 

39 . .1ft 5 A;~!£. , 3 A;*!t tf:'!!lfll4 A. • Jt tf:' .f.~~ 2 A;~!£., 1 A;-k!tff.J:i!i!-:13_~ o (A) 144 (B) 60 

(C) 96 (D) 90 

40. (2x2 + ~r J&nr,i\. tf:' • x6 ff.J1~it~ (A) 2160 (B) 210 (C) 180 (D) 1496 


